= % x of it o] AgA A

D x+1=0

@2x2 -6=—-x

® xX*+2x+1

LR 7219

@ x2-x+3=1x2

(@)3)(2 -1=3(x-1)

@ x o e AR Aol
@ %2I5hE —x 1 3= 00122 x of g L Aolet.
® x ofl tha ol Alolet.

@ x of T ol Alolet,

® x ofl T ol H4lo]et.




O A (x-1)(3x-2) = 0 & ax® + bx 4 ¢ = 0 &= LEE
a+b+c 2 #= ool

> E:

> Het: o

B ~

(x=1)(3x—2) = 3x2 - 5x+ 2
=ax’+bx+c=0
a=3,b=-5 ¢c=2
“a+b+c=3-5+2=0




3. Oo|AWAHA 2x% +6x-a=02 o3

Fafodat,
>

> He: -6

B

x =33 Foix Aol At
184+18-a=0

c.a=36

2x2 4 6x - 36 =0, (2x + 12)(x=3) =0
2(x+6)(x=3) =0
x=-6EE=x=3




4, 24+6x-5=02(x+A)°’ =B E2 Ut o], A+ B 9
F-stozt,

> E

> ®et: 17

B ~
2 4+6x-5=0, x>+6x=5
(x+3°=5+9, (x+3)>=14
A=3 B=14
. A+B=117




1
2E+
T+e=x

x+2=0FEE=x-3=0
£ x:_2E'1—]:‘x:3




2FE=x=-5

X
-2+ 15
®x=2E+=x=5

3 x




e Foteiet
> =
> Het: 6

(x—a)(x-b)=0

2 —(a+b)x+ab=0
a+b=3, ab=2

" abla+b)=2x3=6




T oA A (x 4+ 6)(2x +3) =0, (4x +6)(x—9) = 02

& ot et
» G
> HEh: x:—g

(x+6)=0E=(2x+3)=0,(4x+6)=0F= (x-9)=0
Lozt r= 6, -,
x=—§,x=9°]EE
2
JIE o] sl — 30
OOL_OHtx—_§ =




